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20219 129 319713

7t $UZEH) SYBMA

(9 = 9
oy | =355 | x| e = H| 1
HMEAZOIEF 8,905,884
2021-01-04 XAtz 2/FE Z[* NE=Ea 20,000 2d4CMS
2021-01-04 X9Are| 2 /-EE X|** NE=)= 10,000 2dCMS
2021-01-04 XGArz 2 /-EE a** HXEZR)Z 10,000 2dCMS
2021-01-04 XAtz 2)a8E s Rl NE=-= 5,000 ZdCMs
2021-01-04 X9Arz 23 T e HXE2 )3 5,000 284CMS
2021-01-04 X9Are 2 /52 s NE=Ea 5,000 2dCMS
2021-01-04 X9Are 2 /=2 Of** NE=Ea 10,000 2dCMS
2021-01-04 X GAtz] 2)FE (ki NE=/= 10,000 ZdCMmS
2021-01-04 X9Are| 2 /=2 e NE==F 10,000 2dCMS
2021-01-04 XAtz 2/a3E Z[* NE=2Ea 30,000 2d4CMS
2021-01-04 X9Arz 232 [ NE=-= 30,000 B4CMS
2021-01-04 XGAre 2 /=2 Of** HXEZRZ 5,000 2dCMS
2021-01-04 XAtz 2/FE a** NE=Ea 20,000 284CMS
2021-01-08 X GAtz] 2)FE o** NE=2= 10,000 2d4CMS
2021-01-11 XAtz 2)FE Of*= NE=)= 10,000 ST
2021-01-14 XGAtz] 2R/a3E R HXE== 10,000 28CMS
2021-01-18 XAtz 2 /a8 rak HIXE2 3 10,000 BHCMS
2021-01-20 XAtz S )FE o** NE=Ea 20,000 284CMS
2021-01-22 X9Are 2 /=2 QR HXEZRZ 20,000 2dCMS
2021-01-22 XAtz 288 o** NE=2Ra 10,000 2dCMS
2021-01-22 X GAtz] 2)FE a** NE=2= 20,000 ZdCMS
2021-01-22 XGAtz| 2)a3E a** HXE== 10,000 28CMS
2021-01-22 XAtz 2R/a3E L NE=Ea 5,000 2dCMS
2021-01-22 XAtz S /1FE il NE=Ea 20,000 2dCMS
2021-01-22 X9Are 2 /=2 b HXEZRZ 10,000 24CMS
2021-01-22 X9Arz 23 i HXE2 )3 10,000 k=2Na VS
2021-01-22 XAtz 238 Kl NE8=2R= 5,000 Zd4CMS
2021-01-22 X9Are 2 /=2 T NE=-F 10,000 284CMS
2021-01-22 XGAtz| 2R/3E Hfj** NE=Ea 30,000 2dCMS
2021-01-27 X9Ar2 2 /=2 o HXEE)Z 50,000 2dCMS




2021-01-27 XAtz 2838 o** HIXIE= )= 50,000 ZdCMS
2021-01-27 XGAtz| 2)3E Of** HIX|E=2 3 20,000 2dCMS
2021-01-27 XAtz 2R/a3F Of** HIXE=2a 20,000 2d4CMS
2021-01-27 XAtz 2 )FE x|+ NE=d= 50,000 2dCMS
2021-01-27 X9Are 2 /=2 a** NE=Ea 10,000 284CMS
2021-01-27 X9Arz 23 Sf** NEzda 10,000 24CMS
2021-01-27 XAtz 2838 ES NE=2= 20,000 2d4CMS
2021-01-27 XAtz 2)3E b NE=Ea 10,000 2dCMS
2021-01-27 XGAtz] 2/3E > NE=Ea 10,000 24CMs
2021-01-27 XAtz S )1FE Of*= HXEd= &3 5,000 2dCMS
2021-01-27 XAz S /-FE T HIXE= 2= 5,000 24CMS
2021-01-27 X9Arz 23 (ki HXE= = 5,000 24CMS
2021-01-27 XAtz 238 o* NE=2Ra 10,000 ZdCMS
2021-01-27 X9Are 2/=2 Sfx NE=2-F 20,000 284CMS
2021-01-27 XAtz 2)3E QR NE8=Ea 10,000 2dCMS
2021-01-27 XAtz 2 )FE Of*= NE=da 10,000 ZdCMS
2021-01-27 XAtz S )FE T NE=d= 5,000 2dCMS
2021-01-28 X9Arz 23 Hf e HXE= = 50,000 2d4CMS
2021-01-28 X9Arz 23 ghex NEzda 10,000 284CMS
2021-01-28 X9Are 2 /=2 Qb NE=Ea 20,000 2dCMS
2021-01-28 XAtz 2/FE Of** HIX|E =23 5,000 2dCMS
2021-01-28 X9Are 2 /=2 o** HXIE= 2= 5,000 2dCMS
2021-01-29 XAtz 2 )FE = NE== 10,000 2dCMS
2021-02-01 XAtz 2)a3E e NE=-= 10,000 ZdCMS
2021-02-01 X9GArz 23 O] *= NE=-= 10,000 284CMS
2021-02-01 X9Are 2 /=2 a** HIX|E= 2= 5,000 2dCMS
2021-02-01 X9Are 2 /=2 o NE=Ea 5,000 2dCMS
2021-02-01 XAz 2 /a8 i o HIXIE= 2= 5,000 ZdCMS
2021-02-01 X9Are| 2 /dEE i o NE== 5,000 2dCMS
2021-02-01 XAtz 2 a8 L* HXE= = 10,000 BHCMS
2021-02-01 X9Arz 232 X|** NE== 10,000 284CMS
2021-02-03 X9Are 2 /=2 Z[* NE=Ea 30,000 2dCMS
2021-02-03 X9Are 2 /=2 Z[* NE=Ea 30,000 2dCMS
2021-02-03 X GAtz] 2)FE Sk NE8=2= 10,000 ZdCMS
2021-02-03 X GAtz] 2)EE Of*= HXEd= &= 5,000 2dCMS
2021-02-03 XGAtz] 2R/a3E a** NE=Ea 20,000 2d4CMS
2021-02-03 XAtz 2R)a3F Z[* NE=2Ea 20,000 24CMS
2021-02-08 X9Are 2 /=2 o * HX|E= 2= 10,000 284CMS
2021-02-08 X9Are 2 /=2 a** NE=Ea 10,000 2dCMS
2021-02-10 XAtz 2 )88 Of*= NE=-= 10,000 R A=
2021-02-17 XAtz 288 a** HXIE= 2= 10,000 2dCMS
2021-02-19 XGAtz 2)E3E a** NE=Ea 20,000 2dCMS
2021-02-22 XAtz 2R/a3E Hfj** NE8=Ea 30,000 2dCMS




-

2021-02-24 XAtz 2838 QR HIXIE= )= 20,000 ZdCMS
2021-02-24 XGAtz| 2)3E a** NE=Ea 10,000 2dCMS
2021-02-24 XAtz 2R/a3F a** NE=Ea 20,000 2d4CMS
2021-02-24 X9Are| 2 /=2 a** HXE == 10,000 2dCMS
2021-02-24 X9Are 2 /=2 L NE=-F 5,000 24CMS
2021-02-24 X9Arz 23 Hf NEzda 20,000 24CMS
2021-02-24 XAtz 2838 fw HXIE= )= 10,000 2d4CMS
2021-02-24 XAtz 2)3E S** HIXE=2 3 10,000 28CMS
2021-02-24 XGAtz] 2/3E Eip NE=Ea 5,000 2dCMS
2021-02-24 XAtz S )1FE T NE=d= 10,000 2dCMS
2021-02-26 X9Are 2 /=2 QU +* NE8=Ea 10,000 SSYT
2021-03-02 X9Arz 23 Ekly NE=-= 10,000 24CMS
2021-03-02 XAtz 238 o*= HXIE= )= 5,000 ZdCMS
2021-03-02 X9Are 2/=2 Of** HIX|E =2 = 5,000 2dCMS
2021-03-02 XAtz 2)3E Qb NE8=Ea 20,000 2dCMS
2021-03-02 XAtz 2 )FE gh* NE=da 10,000 ZdCMS
2021-03-02 XGAre 2 /=2 Of*= NE=d= 10,000 2dCMS
2021-03-02 X9Arz 23 Hf e HXE= = 50,000 2d4CMS
2021-03-02 X9Arz 23 T e NEzda 5,000 284CMS
2021-03-02 X9Are 2 /=2 s ol HXE= 2= 5,000 2dCMS
2021-03-02 XAtz 2/FE T x NE=Ea 5,000 2dCMS
2021-03-02 X9Are 2 /=2 o** HXIE= 2= 10,000 2dCMS
2021-03-02 XGAr2 2 /=2 X|** NE== 10,000 2dCMS
2021-03-02 XAtz 2)a3E O HXE=dF 50,000 ZdCMS
2021-03-02 X9GArz 23 rak HXE= = 50,000 284CMS
2021-03-02 X9Are 2 /=2 Of** HIX|E= 2= 20,000 2dCMS
2021-03-02 X9Are 2 /=2 Of** NE=Ea 10,000 2dCMS
2021-03-02 XAz 2 /a8 QR NE8=Ra 10,000 ZdCMS
2021-03-02 X9Are| 2 /dEE S+ NE=)= 20,000 2dCMS
2021-03-02 XGAtz| 2/a3E a** NE=2Ea 10,000 24CMS
2021-03-02 X9Arz 232 ekl HXE=dF 5,000 284CMS
2021-03-02 XAtz S /AFE Fr HIX|E= 2= 5,000 24CMS
2021-03-02 X9Are 2 /=2 Of** HIXE= 2= 5,000 2dCMS
2021-03-02 XAtz 2 /a8 gw NE8=2= 10,000 ZdCMS
2021-03-02 X GAtz] 2)EE - NE=d= 5,000 2dCMS
2021-03-02 XGAtz] 2R/a3E Of** HIX|E=2 3 20,000 2d4CMS
2021-03-02 XAtz 2R)a3F Z[* NE=2Ea 50,000 24CMS
2021-03-02 X9Are 2 /=2 a** NE=Ea 10,000 284CMS
2021-03-02 X9Are 2 /=2 Sfx NE=Ea 10,000 2dCMS
2021-03-02 XAtz 2 )88 ES NE=2Ra 20,000 2d4CMS
2021-03-04 XAtz 288 x| NE== 20,000 2dCMS
2021-03-04 XGAtz 2)E3E a** NE=Ea 20,000 2dCMS
2021-03-04 XAtz 2R/a3E Ep NE8=Ea 10,000 2dCMS




2021-03-04 X GAtz] 2)FE EShi NE=)= 10,000 ZdCMS
2021-03-04 XGAtz| 2)3E * NE=Ea 10,000 2dCMS
2021-03-04 XAtz 2R/a3F [ NE=Ea 30,000 2d4CMS
2021-03-04 X9Are| 2 /=2 a** HXE == 5,000 2dCMS
2021-03-04 XAtz S )FE = NE== 30,000 284CMS
2021-03-04 X9Arz 23 HXE= = 5,000 24CMS
2021-03-05 XAtz 2838 HXIE= )= 50,000 o=
2021-03-08 XAtz 2)3E NE=Ea 10,000 2dCMS
2021-03-10 XGAtz] 2/3E NE=Ea 10,000 =
2021-03-17 XGArz 2 /=2 HXIE= 2= 10,000 2dCMS
2021-03-19 X9Are 2 /=2 NE=d= 20,000 24CMS
2021-03-22 X9Arz 23 NE=-= 30,000 24CMS
2021-03-24 XAtz 238 NE=2Ra 10,000 24CMS
2021-03-24 X9Are 2/=2 NE=Ea 5,000 2dCMS
2021-03-24 XAtz 2)3E HIXE =23 10,000 2dCMS
2021-03-24 X9Are 2 /-EE HXE= 2= 10,000 ZdCMS
2021-03-24 XGAre 2 /=2 NE=Ea 20,000 2dCMS
2021-03-24 X9Arz 23 NE=-= 5,000 2d4CMS
2021-03-24 X9Arz 23 HXE= = 10,000 284CMS
2021-03-24 X9Are 2 /=2 NE=Ea 10,000 2dCMS
2021-03-24 XAtz 2/FE HIX|E =23 20,000 2dCMS
2021-03-25 X9Are 2 /=2 HXIE= 2= 50,000 ST
2021-03-26 XGAr2 2 /=2 2 NE=@a 10,000 ST
2021-03-29 XAtz 2)a3E by HXE=dF 50,000 ZdCMS
2021-03-29 X9GArz 23 H* NE=-= 20,000 284CMS
2021-03-29 X9Are 2 /=2 g NE=Ea 10,000 2dCMS
2021-03-29 X9Are 2 /=2 Of** HIX| =2 = 5,000 2dCMS
2021-03-29 XAz 2 /a8 o** HIXIE= 2= 5,000 ZdCMS
2021-03-29 X9Are| 2 /dEE O % HXIE= 2= 50,000 2dCMS
2021-03-29 XAtz 2 a8 L* HXE= = 50,000 BHCMS
2021-03-29 X9Arz 232 Of*= HXE=dF 20,000 284CMS
2021-03-29 X9Are 2 /=2 Of** HIX|E= 2= 20,000 2dCMS
2021-03-29 X9Are 2 /=2 NE=Ea 50,000 2dCMS
2021-03-29 XAtz 2 /a8 NE8=2= 10,000 ZdCMS
2021-03-29 XAz 288 NE=a 10,000 2dCMS
2021-03-29 XGAtz] 2R/a3E NE=Ea 5,000 2d4CMS
2021-03-29 XAtz 2R)a3F NE=2Ea 10,000 24CMS
2021-03-29 X9Are 2 /=2 NE=Ea 10,000 284CMS
2021-03-29 X9Are 2 /=2 NE=Ea 20,000 2dCMS
2021-03-29 XAtz 2 )88 NE=2Ra 10,000 2d4CMS
2021-03-29 XAtz 288 HXIE= 2= 5,000 2dCMS
2021-03-29 XGAtz 2)E3E HIX|E=2 3 5,000 2dCMS
2021-03-29 XAtz 2R/a3E HIXE=2a 5,000 2dCMS
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2021-04-22 XAtz 2838 NE8== 5,000 ZdCMS
2021-04-22 XGAtz| 2)3E HIX|E=2 3 10,000 2dCMS
2021-04-22 XAtz 2R/a3F HIXE=2a 10,000 2d4CMS
2021-04-22 X9Are| 2 /=2 NE=Ea 20,000 2dCMS
2021-04-22 X9Are 2 /=2 NE=-F 5,000 24CMS
2021-04-22 X9Arz 23 HXE= = 10,000 24CMS
2021-04-22 XAtz 2838 NE=2= 10,000 2d4CMS
2021-04-23 XAtz 2 /a5 HXE= S 50,000 ST
2021-04-26 XGAtz] 2/3E NE=Ea 10,000 =
2021-04-28 XGArz 2 /=2 NE8=Ea 10,000 2dCMS
2021-04-28 X9Are 2 /=2 HIXE= 2= 50,000 284CMS
2021-04-28 X9Arz 23 HXE= = 50,000 24CMS
2021-04-28 XAtz 238 HXIE= )= 20,000 ZdCMS
2021-04-28 X9Are 2/=2 HIX|E =2 = 50,000 2dCMS
2021-04-28 XAtz 2)3E HIXE =23 20,000 2dCMS
2021-04-28 X9Are 2 /-EE NE=Ea 50,000 ZdCMS
2021-04-28 XGAre 2 /=2 NE=Ea 10,000 2dCMS
2021-04-28 X9Arz 23 NE=-= 10,000 2d4CMS
2021-04-28 X9Arz 23 NE=-= 20,000 284CMS
2021-04-28 X9Are 2 /=2 NE=Ea 10,000 2dCMS
2021-04-28 XAtz 2/FE NE=Ea 10,000 2dCMS
2021-04-28 X9Are 2 /=2 HXIE= 2= 5,000 2dCMS
2021-04-28 XGAr2 2 /=2 HXIE= 2= 5,000 2dCMS
2021-04-28 XAtz 2)a3E HXE=dF 5,000 ZdCMS
2021-04-28 X9GArz 23 HXE= = 5,000 284CMS
2021-04-28 X9Are 2 /=2 HIX|E= 2= 5,000 2dCMS
2021-04-28 X9Are 2 /=2 NE=Ea 10,000 2dCMS
2021-04-28 XAz 2 /a8 NE8=Ra 20,000 ZdCMS
2021-04-28 X9Are| 2 /dEE NE== 10,000 2dCMS
2021-04-28 XGAtz| 2/a3E NE=2Ea 10,000 24CMS
2021-04-28 X9Arz 232 = NE== 5,000 284CMS
2021-04-29 X9Are 2 /=2 by NE=Ea 10,000 2dCMS
2021-04-29 X9Are 2 /=2 a** HIXE= 2= 5,000 2dCMS
2021-05-03 XAtz 2 /a8 ES NE8=2= 10,000 ZdCMS
2021-05-03 X GAtz] 2)EE x|+ NE=d= 30,000 2dCMS
2021-05-03 XGAtz] 2R/a3E [ NE=Ea 20,000 2d4CMS
2021-05-03 XAtz 2R)a3F a** NE=2Ea 20,000 24CMS
2021-05-03 X9Are 2 /=2 Of*= HXEd= &= 5,000 284CMS
2021-05-03 X9Are 2 /=2 G NE=Ea 10,000 2dCMS
2021-05-03 XAtz 2 )88 x| NE=2Ra 30,000 2d4CMS
2021-05-03 XAtz 288 i o NE== 5,000 2dCMS
2021-05-03 XGAtz 2)E3E HIX|E=2 3 5,000 2dCMS
2021-05-03 XAtz 2R/a3E NE8=Ea 5,000 2dCMS




2021-05-03 XAtz 2838 o** HIXIE= )= 10,000 ZdCMS
2021-05-03 XGAtz| 2)3E K| NE=Ea 10,000 2dCMS
2021-05-03 XAtz 2R/a3F Of** NE=Ea 10,000 2d4CMS
2021-05-10 X9Are| 2 /=2 Qo * HXE == 10,000 2dCMS
2021-05-10 XAtz S )FE Of*= NE== 10,000 SHYT
2021-05-11 X9Arz 23 x| HXE= = 20,000 sHYUS
2021-05-14 XAtz 2838 o* NE=2= 10,000 2d4CMS
2021-05-17 XAtz 2 /a5 H* HXE= S 10,000 BHCMS
2021-05-20 XGAtz] 2/3E Hfj** NE=Ea 30,000 2dCMS
2021-05-20 XGArz 2 /=2 o** NE8=Ea 20,000 2dCMS
2021-05-24 XAtz S )FE Hp NE=d= 5,000 284CMS
2021-05-24 X9Arz 23 S HXE= = 10,000 24CMS
2021-05-24 XAtz 238 gw HXIE= )= 10,000 ZdCMS
2021-05-24 X9Are 2/=2 Ep NE=Ea 20,000 2dCMS
2021-05-24 XAtz 2 a5 rak HXE= S 10,000 BHCMS
2021-05-24 X9Are 2 /-EE a** NE=Ea 20,000 ZdCMS
2021-05-24 XGAre 2 /=2 a** NE=Ea 10,000 2dCMS
2021-05-24 X9Arz 23 Qxx HXE= = 20,000 2d4CMS
2021-05-24 X9Arz 23 The* NEzda 10,000 284CMS
2021-05-25 X9Are 2 /=2 Of** HXE= 2= 50,000 SHYT
2021-05-26 XAtz 2/FE QU * NE=Ea 10,000 SHYT
2021-05-27 X9Are 2 /=2 Of*= HXE= &= 20,000 2dCMS
2021-05-27 XGAr2 2 /=2 o HXIE= 2= 50,000 2dCMS
2021-05-27 XAtz 2)a3E rak HXE=dF 50,000 ZdCMS
2021-05-27 X9GArz 23 O] *= HXE= = 20,000 284CMS
2021-05-27 X9Are 2 /=2 Z[* NE=Ea 50,000 2dCMS
2021-05-27 X9Are 2 /=2 a** NE=Ea 10,000 2dCMS
2021-05-27 XAz 2 /a8 Sf** NE=)= 10,000 ZdCMS
2021-05-27 X9Are| 2 /dEE E NE== 20,000 2dCMS
2021-05-27 XGAtz| 2/a3E > NE=2Ea 10,000 24CMS
2021-05-27 X9Arz 232 Of*= HXE=dF 5,000 284CMS
2021-05-27 X9Are 2 /=2 Fr HIX|E= 2= 5,000 2dCMS
2021-05-27 X9Are 2 /=2 G HIXE= 2= 5,000 2dCMS
2021-05-27 XAtz 2 /a8 o** NE8=2= 10,000 ZdCMS
2021-05-27 XAz 288 S NE=d= 20,000 2dCMS
2021-05-27 XGAtz] 2R/a3E QR NE=Ea 10,000 2d4CMS
2021-05-27 XAtz 2R)a3F Of** NE=2Ea 10,000 24CMs
2021-05-27 XAtz 2 )FE T NE=d= 5,000 284CMS
2021-05-27 X9Are 2 /=2 b NE=Ea 10,000 2dCMS
2021-05-28 XAtz 2 )88 o** HXIE= )= 5,000 2d4CMS
2021-05-28 XAtz 288 Of*= HXEd= &= 5,000 2dCMS
2021-05-28 XGAtz 2)E3E ghex NE=Ea 10,000 2dCMS
2021-05-28 XAtz 2R/a3E Hp HXEd=&a 50,000 2dCMS




-

2021-05-31 XAtz 2838 o** HIXIE= )= 5,000 ZdCMS
2021-05-31 XGAtz| 2)3E Eip NE=Ea 10,000 2dCMS
2021-06-02 XAtz 2R/a3F e NE=Ea 10,000 2d4CMS
2021-06-02 XAtz 2 )FE x|+ NE=d= 20,000 2dCMS
2021-06-02 X9Are 2 /=2 a** NE=Ea 20,000 284CMS
2021-06-02 X9Arz 23 Of# HXE= = 5,000 24CMS
2021-06-02 X GAtz] =& Skl NE=2= 10,000 2d4CMS
2021-06-02 XAtz 2)3E Z[* NE=Ea 30,000 2dCMS
2021-06-02 XGAtz] 2/3E Of** NE=Ea 10,000 2dCMS
2021-06-02 XAtz S )1FE [+ NE=d= 30,000 2dCMS
2021-06-02 X9Are 2 /=2 T * NE8=Ea 5,000 284CMS
2021-06-02 X9Arz 23 T e HXE= = 5,000 24CMS
2021-06-02 XAtz 238 s Rl NE=2Ra 5,000 ZdCMS
2021-06-02 X9Are 2/=2 a** HIX|E =2 = 10,000 2dCMS
2021-06-02 XAtz 2)3E K| NE8=Ea 10,000 2dCMS
2021-06-02 X9Are 2 /-EE L HXE= 2= 20,000 ZdCMS
2021-06-09 XGAre 2 /=2 a** NE=Ea 10,000 2dCMS
2021-06-10 X9Arz 23 Of*= NE=-= 10,000 ST
2021-06-16 XAtz 2838 715k HXE2 3 10,000 Z9CMS
2021-06-21 X9Are 2 /=2 a** NE=Ea 20,000 2dCMS
2021-06-23 XAtz 2/FE a** NE=Ea 20,000 2dCMS
2021-06-23 X9Are 2 /=2 o** HXIE= 2= 10,000 2dCMS
2021-06-23 XAtz 2 )FE = NE== 20,000 2dCMS
2021-06-23 XAtz 2)a3E g HXE=dF 10,000 ZdCMS
2021-06-23 X9GArz 23 S HXE= = 10,000 284CMS
2021-06-23 X9Are 2 /=2 ol NE=Ea 5,000 2dCMS
2021-06-23 X9Are 2 /=2 T NE=Ea 10,000 2dCMS
2021-06-23 XAz 2 /a8 QR HIXIE= 2= 20,000 ZdCMS
2021-06-23 X9Are| 2 /dEE a** NE== 10,000 2dCMS
2021-06-25 XGAtz| 2/a3E Of** HIXE=2a 50,000 sdYT
2021-06-28 X9Arz 232 ekl NE== 20,000 284CMS
2021-06-28 X9Are 2 /=2 Sf* NE=Ea 10,000 284CMS
2021-06-28 X9Are 2 /=2 b NE=Ea 10,000 2dCMS
2021-06-28 XAtz 2 /a8 [ NE=)= 50,000 ZdCMS
2021-06-28 X GAtz] 2)EE Of*= HXEd= &= 20,000 2dCMS
2021-06-28 XGAtz] 2R/a3E Of** HIX|E=2 3 20,000 2d4CMS
2021-06-28 XAtz 2 a8 rak HXE= = 50,000 BHCMS
2021-06-28 X9Are 2 /=2 QU ** NE=Ea 10,000 284CMS
2021-06-28 X9Are 2 /=2 Of** HXE= 2= 5,000 2dCMS
2021-06-28 XAtz 2 )88 e HXE= &= 5,000 2d4CMS
2021-06-28 XGAtz] 2)FE (ki HXEd= &= 5,000 2dCMS
2021-06-28 XGAtz 2)E3E a** NE=Ea 10,000 2dCMS
2021-06-28 XAtz 2R/a3E Sfx+ NE8=Ea 20,000 2dCMS




2021-06-28 XAtz 2838 QR NE8== 10,000 ZdCMS
2021-06-28 XGAtz| 2)3E Of** NE=Ea 10,000 2dCMS
2021-06-28 XAtz 2R/a3F T NE=Ea 5,000 2d4CMS
2021-06-28 X9Are| 2 /=2 R +* NE=Ea 10,000 ST
2021-06-28 X9Are 2 /=2 a** NE=Ea 10,000 284CMS
2021-06-30 X9Arz 23 Of# HXE= = 5,000 24CMS
2021-06-30 X GAtz] =& Kl NE=2= 10,000 2d4CMS
2021-06-30 XAtz 2)3E Qb NE=Ea 20,000 2dCMS
2021-06-30 XGAtz] 2/3E ghex NE=Ea 10,000 2dCMS
2021-06-30 XAtz S )1FE Hfj NE=d= 30,000 2dCMS
2021-06-30 X9Are 2 /=2 a** HIXE= 2= 5,000 284CMS
2021-06-30 X9Arz 23 Hf e HXE= = 50,000 24CMS
2021-06-30 XAtz 238 o*= HXIE= )= 5,000 ZdCMS
2021-07-02 X9Are 2/=2 ghe HIX|E =2 = 300,000 SHYT
2021-07-02 XAtz 2)3E L HIXE =23 20,000 2dCMS
2021-07-02 XAtz 2 )FE X|** NE=da 10,000 ZdCMS
2021-07-02 XGAre 2 /=2 a** HXIE= 2= 10,000 2dCMS
2021-07-02 X9Arz 23 T e NE=da 5,000 2d4CMS
2021-07-02 X9Arz 23 T Rl HXE=dF 5,000 284CMS
2021-07-02 X9Are 2 /=2 s ol NE=Ea 5,000 2dCMS
2021-07-02 XAtz 2/FE Z[* NE=Ea 30,000 2dCMS
2021-07-02 XAtz 2 )FE Of*= NE== 10,000 2dCMS
2021-07-02 XAtz 2 )FE x| NE== 30,000 2dCMS
2021-07-02 XAtz 2)a3E ekl NE=-= 10,000 ZdCMS
2021-07-02 X9GArz 23 O] *= HXE= = 5,000 284CMS
2021-07-02 X9Are 2 /=2 a** NE=Ea 20,000 2dCMS
2021-07-02 X9Are 2 /=2 Z[* NE=Ea 20,000 2dCMS
2021-07-02 XAz 2 /a8 e NE8=Ra 10,000 ZdCMS
2021-07-06 XYAtz] S )-FE ar* HXEd= &3 10,000 SSYF
2021-07-06 XGAtz| 2/a3E Sfx HIXE=2a 10,000 sdYT
2021-07-06 X9Arz 232 el HXE=dF 10,000 STYU=
2021-07-06 X9Are 2 /=2 Of** HIX|E= 2= 10,000 SHYT
2021-07-06 X9Are 2 /=2 G HIXE= 2= 10,000 SHYT
2021-07-06 X GAtz] 2)FE Of*= HXE= &= 10,000 ST
2021-07-06 X GAtz] 2)EE Of*= HXEd= &= 10,000 o=
2021-07-06 XGAtz] 2R/a3E Of** HIX|E=2 3 10,000 sHYT
2021-07-06 XAtz 2R)a3F Of** HIX|E=2a 10,000 ST
2021-07-06 XAtz 2 )FE Of*= HXEd= &= 10,000 SEYT
2021-07-06 X9Are 2 /=2 Fr HXE= 2= 10,000 SHYT
2021-07-06 XAtz 2 )88 R HXE= &= 10,000 R A=
2021-07-06 XGAtz] 2)FE il HXEd= &= 10,000 o=
2021-07-06 XGAtz 2)E3E Eip HIX|E=2 3 10,000 A=
2021-07-06 XAtz 2R/a3E Ep HIXE=2a 10,000 =
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2021-07-28 X GAtz] 2)FE Of*= NE=)= 10,000 ZdCMS
2021-07-28 XGAtz| 2)3E QR NE=Ea 10,000 2dCMS
2021-07-28 XAtz 2R/a3F Sf** NE=a 20,000 2d4CMS
2021-07-28 X9Are| 2 /=2 a** NE=Ea 10,000 2dCMS
2021-07-28 X9Are 2 /=2 a** HXE= 2= 5,000 284CMS
2021-07-28 X9Arz 23 Of# HXE= = 5,000 24CMS
2021-07-28 X GAtz] =& Skl HXE= &= 5,000 2d4CMS
2021-07-28 XAtz 2)3E T HIXE=2 3 5,000 24CMS
2021-07-28 XGAtz] 2/3E Of** HIX|E =23 5,000 2dCMS
2021-07-29 XAtz S )1FE = NE=d= 10,000 2dCMS
2021-07-29 X9Are 2 /=2 a** HIXE= 2= 5,000 284CMS
2021-08-02 X9Arz 23 e HXE= = 20,000 24CMS
2021-08-02 XAtz 238 X|** NE=2Ra 10,000 ZdCMS
2021-08-02 X9Are 2/=2 a** HIX|E =2 = 10,000 2dCMS
2021-08-02 XAtz 2)3E el NE8=Ea 5,000 2dCMS
2021-08-02 X9Are 2 /-EE T x HXE= 2= 5,000 ZdCMS
2021-08-02 XGAre 2 /=2 il NE=Ea 5,000 2dCMS
2021-08-02 X9Arz 23 x| NE=-= 30,000 2d4CMS
2021-08-02 X9Arz 23 Of# NEzda 10,000 284CMS
2021-08-02 X9Are 2 /=2 Z[* NE=Ea 30,000 2dCMS
2021-08-02 XAtz 2/FE Of** HIX|E =23 5,000 2dCMS
2021-08-02 XAtz 2 )FE [+ NE== 20,000 2dCMS
2021-08-02 XGAr2 2 /=2 e NE=@a 10,000 2dCMS
2021-08-04 XAtz 2)a3E ekl NE=-= 10,000 ZdCMS
2021-08-05 X9GArz 23 H* NE=-= 20,000 284CMS
2021-08-09 X9Are 2 /=2 a** NE=Ea 10,000 2dCMS
2021-08-10 X9Are 2 /=2 Of** NE=Ea 10,000 SHYT
2021-08-11 XAz 2 /a8 ke HIXIE= 2= 10,000 ZdCMS
2021-08-19 X9Are| 2 /dEE a** HXIE= 2= 10,000 2dCMS
2021-08-19 XGAtz| 2/a3E a** NE=2Ea 20,000 24CMS
2021-08-23 X9Arz 232 Qxx HXE=dF 20,000 284CMS
2021-08-23 X9Are 2 /=2 a** NE=Ea 10,000 2dCMS
2021-08-23 X9Are 2 /=2 a** HIXE= 2= 10,000 2dCMS
2021-08-23 X GAtz] 2)FE = el NE8=2= 20,000 ZdCMS
2021-08-23 XAz 288 ol HXIE= 2= 10,000 2dCMS
2021-08-23 XAtz 2 a8 S HXE=dF 10,000 BHCMS
2021-08-23 XAtz 2R)a3F Ep NE=2Ea 5,000 24CMS
2021-08-23 XAtz 2 )FE T NE=d= 10,000 284CMS
2021-08-25 X9Are 2 /=2 Of** HXE= 2= 50,000 SHYT
2021-08-25 XAtz 2 )88 Of*= HXE= &= 50,000 R A=
2021-08-26 XAtz 288 R +* NE== 10,000 o=
2021-08-27 XAtz 2 a8 H* HXE=dF 50,000 BHCMS
2021-08-27 XAtz 2R/a3E Of** HIXE=2a 20,000 2dCMS




-

2021-08-27 XAt 3= Mo 20,000 S HCMS
2021-08-27 X CAS sdZ= e 50,000 SRS
2021-08-27 X CAS sad3= ErE! 10,000 SHCMS
2021-08-27 NEEECEE FOE! 10,000 EHCMS
2021-08-27 X HArE S2E soz 50,000 SHCMS
2021-08-27 X A2 sAZE EOE! 10,000 SHCMS
2021-08-27 SEEERES EOE! 10,000 SHCMS
2021-08-27 XA 3= e 5,000 SHCMS
2021-08-27 AMte| 2d5E HIXHE S 5,000 EAHCMS
2021-08-27 EEECEE T 000 SHCMS
2021-08-27 X HAfE S2E EOE! 10,000 SHCMS
2021-08-27 NEREEDEES . e 20,000 EHMS
2021-08-27 X oAS sAZE o FOE! 10,000 SHCMS
2021-08-27 X AfS 2222 o[+ soz 10,000 SHMS
2021-08-27 X oAS seAZ= oy EOE! 5,000 SHCMS
2021-08-30 EEECEE 2w e 5,000 SHCMS
2021-08-30 X|GIAfS S22 per o= 10,000 AN
2021-08-30 NENEECEE aper e 50,000 AN
2021-08-30 X oAS| sAZE e saz 30,000 SHCMS
2021-08-30 X HAfE S2E Zjux soz 50,000 SHCMS
2021-08-30 NCIEECEE . EOE! 10,000 SHCMS
2021-08-30 EEECEE ofss T 20,000 SHCMS
2021-08-30 XA S22 o[ ! 5,000 EHCMS
2021-08-30 X CAS sAZ= Zwr ETE! 5,000 SHCMS
2021-09-01 XA sAZE ] Ssolg 50,000 SHCMS
2021-09-01 X AfE S2Z o[+ T 5,000 ZHMS
2021-09-01 X AfE S2E e 30,000 SHCMS
2021-09-01 SEEERES T 30.000 SHCMS
2021-09-02 X AfE S2E e 20,000 SHCMS
2021-09-02 X CAS 3= Ssog 10,000 SRS
2021-09-02 X CAS sAZE EDE! 10,000 SHCMS
2021-09-02 X HArE S2E soz 5,000 SHCMS
2021-09-02 X AfE S2E ! 5,000 SHCMS
2021-09-02 ENEERES HeoD 000 SHCMS
2021-09-02 XMz =d5E NEEDE 10,000 ZMCMS
2021-09-02 AMte| 2d5E NEESTE 10,000 EMCMS
2021-09-02 G2 2R5E N 10,000 E4CMS
2021-09-03 A AMNe] 2HEE NEECTE 20,000 ZACMS
2021-0908 | A3 USE H5€3 | 10000 | ZACMS
2021-09-10 NENEEREE NEEDE! 10,000 =xroa
2021-09-13 XA sAZE e 10,000 SHCMS
2021-09-16 X CAS sAZ= e 10,000 SRS
2021-09-23 X CAS 3= EOE! 50,000 SHCMS




2021-09-23 XAtz 2838 HIXIE= )= 50,000 o=
2021-09-23 XAtz 2 a8 HXE= S 50,000 S
2021-09-27 XAtz 2R/a3F NE=Ea 10,000 A=
2021-09-27 X9Are| 2 /=2 HXE == 20,000 2dCMS
2021-09-27 X9Are 2 /=2 NE=Ea 10,000 284CMS
2021-09-27 X9Arz 23 Hfj NEzda 30,000 24CMS
2021-09-27 XAtz 2838 o* HXIE= )= 10,000 2d4CMS
2021-09-27 XAtz 2)3E Eip NE=Ea 20,000 2dCMS
2021-09-27 XGAtz] 2/3E b HIX|E =23 10,000 sdCMs
2021-09-27 XAtz S )1FE S HXEd= &3 10,000 2dCMS
2021-09-27 XAtz S )FE Hp NE=d= 5,000 284CMS
2021-09-27 X9Arz 23 T NE=-= 10,000 24CMS
2021-09-29 XAtz 238 NE=2Ra 10,000 ZdCMS
2021-09-29 X9Are 2/=2 NE=Ea 20,000 2dCMS
2021-09-29 XAtz 2)3E NE8=Ea 10,000 2dCMS
2021-09-29 X9Are 2 /-EE NE=Ea 10,000 ZdCMS
2021-09-29 XGAre 2 /=2 NE=Ea 20,000 2dCMS
2021-09-29 X9Arz 23 * HXE= = 5,000 2d4CMS
2021-09-29 X9Arz 23 I NEzda 50,000 284CMS
2021-09-29 X9Are 2 /=2 HXE= 2= 20,000 2dCMS
2021-09-29 XAtz 2/FE HIX|E =23 50,000 2dCMS
2021-09-29 X9Are 2 /=2 HXIE= 2= 20,000 2dCMS
2021-09-29 XGAr2 2 /=2 HXIE= 2= 50,000 2dCMS
2021-09-29 XAtz 2)a3E NE=-= 10,000 ZdCMS
2021-09-29 X9GArz 23 NE=-= 10,000 284CMS
2021-09-29 X9Are 2 /=2 NE=Ea 5,000 2dCMS
2021-09-29 X9Are 2 /=2 NE=Ea 10,000 2dCMS
2021-09-29 XAz 2 /a8 NE8=Ra 10,000 ZdCMS
2021-09-29 X9Are| 2 /dEE NE== 20,000 2dCMS
2021-09-29 XGAtz| 2/a3E NE=2Ea 10,000 24CMS
2021-09-29 X9Arz 232 HXE=dF 5,000 284CMS
2021-09-29 X9Are 2 /=2 HIX|E= 2= 5,000 2dCMS
2021-09-29 X9Are 2 /=2 HIXE= 2= 5,000 2dCMS
2021-09-29 XAtz 2 /a8 HXIE= 2= 5,000 ZdCMS
2021-09-29 XAz 288 HXIE= 2= 5,000 2dCMS
2021-09-29 XGAtz] 2R/a3E = NE=Ea 10,000 2d4CMS
2021-10-05 XAtz 2R)a3F Of** HIX|E=2a 10,000 ST
2021-10-05 XAtz 2 )FE o> HXEd= &= 10,000 SEYT
2021-10-05 X9Are 2 /=2 e HXE= 2= 10,000 SHYT
2021-10-05 XAtz 2 )88 ohx* HXE= &= 10,000 R A=
2021-10-05 XAtz 288 &+ HXEd= &= 10,000 o=
2021-10-05 XAtz 2 a8 ikl HXE=dF 10,000 ST
2021-10-05 XAtz 2R/a3E Ep HIXE=2a 10,000 =




2021-10-05 X GAtz] 2)FE = HXEd= &= 10,000 o=
2021-10-05 XAtz 2 a8 g HXE= S 10,000 S
2021-10-05 XAtz 2)EE R HXE= S 10,000 R A=
2021-10-05 X9Are| 2 /=2 = HXE == 10,000 ST
2021-10-05 X9Are 2 /=2 HXE= 2= 10,000 SHYT
2021-10-05 X9Arz 23 HXE= = 10,000 sHYUS
2021-10-05 XAtz 2838 HXIE= )= 10,000 o=
2021-10-05 XAtz 2)3E HIXE=2 3 10,000 SHYT
2021-10-05 XGAtz] 2/3E HIX|E =23 10,000 =
2021-10-05 XGArz 2 /=2 HXIE= 2= 10,000 SSYT
2021-10-05 X9Are 2 /=2 HIXE= 2= 10,000 SSYT
2021-10-05 X9Arz 23 2 HXE= = 10,000 ST
2021-10-05 XAtz 238 by HXE= 3 10,000 R A=
2021-10-05 X9Are 2/=2 Ep HIX|E =2 = 10,000 SHYT
2021-10-05 XAtz 2)3E Eip HIXE =23 10,000 SHYT
2021-10-05 XAtz 2 )FE " HXEd= &3 10,000 ST
2021-10-05 XGAre 2 /=2 a** HXIE= 2= 10,000 SEYT
2021-10-05 X9Arz 23 H* HXE= = 10,000 ST
2021-10-05 X9Arz 23 H* HXE= = 10,000 Sy
2021-10-05 X9Are 2 /=2 a** HXE= 2= 10,000 SHYT
2021-10-05 XAz S /-FE H* HXE= S 10,000 ST
2021-10-05 X9Are 2 /=2 o** HXIE= 2= 10,000 ST
2021-10-05 XGAr2 2 /=2 ik HXIE= 2= 10,000 ST
2021-10-05 XAtz 2)a3E g HXE=dF 10,000 R A=
2021-10-05 X9GArz 23 T e NEzda 5,000 284CMS
2021-10-05 X9Are 2 /=2 e NE=Ea 10,000 2dCMS
2021-10-05 X9Are 2 /=2 Z[* NE=Ea 20,000 2dCMS
2021-10-05 XAz 2 /a8 d NE8=Ra 20,000 ZdCMS
2021-10-05 X9Are| 2 /dEE 0 HXIE= 2= 5,000 2dCMS
2021-10-05 XGAtz| 2/a3E NE=2Ea 10,000 24CMS
2021-10-05 X9Arz 232 NE== 30,000 284CMS
2021-10-05 X9Are 2 /=2 NE=Ea 10,000 2dCMS
2021-10-05 X9Are 2 /=2 NE=Ea 30,000 2dCMS
2021-10-05 XAtz 2 /a8 NE8=2= 5,000 ZdCMS
2021-10-05 XAz 288 HXIE= 2= 5,000 2dCMS
2021-10-05 XGAtz] 2R/a3E HIX|E=2 3 10,000 2d4CMS
2021-10-05 XAtz 2R)a3F NE=2Ea 10,000 24CMS
2021-10-05 X9Are 2 /=2 HX|E= 2= 20,000 284CMS
2021-10-12 X9Are 2 /=2 HXE= 2= 10,000 k=2Na VS
2021-10-12 XAtz 2 )88 NE=2Ra 10,000 R A=
2021-10-18 XAtz 288 HXIE= 2= 10,000 2dCMS
2021-10-18 XGAtz 2)E3E NE=Ea 10,000 2dCMS
2021-10-20 XAtz 2R/a3E NE8=Ea 30,000 2dCMS




2021-10-22 Atz 2H5E Qr HIXHE S 20,000 EAHCMS
2021-1022 | X9AE SUTE FIE EECE! 10000 | ZACMS
2021-10-22 EEECES Zwr EETE! 50,000 SHCMS
2021-10-22 | NNe 2E3E g~ | eixmsEs | 10000 | @4cMs
2021-10-22 | X|9AE SUTE e EELE! 20000 | 2AECMS
2021-10-22 X Arz 2ASE ol HIXEZ = 10,000 BACMS
2021-10-22 NENEECEE . REDE! 5 000 SHCMS
2021-10-22 AMte| 2d5E NEESTE 10,000 EMCMS
2021-10-22 AMte| 2d5E HIXHE S 10,000 EAHCMS
2021-10-25 XA 255 NEEDE 20,000 EMCMS
2021-10-25 XA 253 HIXHE S 50,000 Exo2
2021-10-25 AAte| 2EdEE CNEEETES 50,000 Exol3
2021-10-26 NENEIECEE REDE! 10,000 =xroD
2021-10-27 X AfE S2E EETE! 5,000 SHMS
2021-10-27 AAte| 2dEE HIXHE S 5,000 EMHCMS
2021-10-27 XA =d5E NEEDE 10,000 =MCMS
2021-10-27 XA 2d5E NEEDE 20,000 EMCMS
2021-10-27 XA 2/FE NEETTE 10,000 EACMS
2021-10-27 XA 2HFE NEETTE 10,000 EACMS
2021-10-27 XA 2d5E NEEDTE 50,000 EMCMS
2021-10-27 XA 2d5E HIXHE S 20,000 EAHCMS
2021-10-27 XA =53 HIXHS S 20,000 EAMCMS
2021-10-27 A2 2a8 FRNEECE! 50,000 EMCMS
2021-10-27 AoAMS 2 i3S N 10,000 ZACMS
2021-10-27 AAte 2dEE NEESE 10,000 EMCMS
2021-10-27 XA 2d5E NEEETE 10,000 EAHCMS
2021-10-27 XA 2d5E NEESTE 20,000 EAHCMS
2021-10-27 XMz =A5E NEEDE 10,000 ZAMCMS
2021-10-27 | MaAMel £ESE HIXIES T 5000 | 2ACMS
2021-10-27 AAte| 2dEE HXHE S 5,000 EMCMS
2021-10-28 AAte| 2dEE HXHES 5,000 EMCMS
2021-10-28 XA 2d5E CNEEETE 50,000 EAHCMS
2021-10-28 XA 2d5E NEESTE 10,000 EAHCMS
2021-10-28 | AAMel 2SS HIXI Y23 5000 | ZHCMS
2021-10-29 | MaMel £ESE HIXI YT 5000 | 2ACMS
2021-10-29 AMte| 2d5E NEESTE 10,000 EMCMS
2021-11-01 AAte| 2dEE HXHES 20,000 EMCMS
2021-11-01 | XM 2SS HXESAF | 10000 | sdcMs
2021-11-01 XA 2d5E NEEDE 10,000 EMCMS
2021-11-01 | XMl 2SS NYz A3 10000 | ZHCMS
2021-11-01 ENEECEE EEDE! 5,000 SHCMS
2021-11-01 AAte| 2d5E HIXHE S 5,000 EMCMS
2021-11-01 EEECES EEDE! 5,000 SHCMS




2021-11-01 XMz =d3E S NESETE 10,000 EMCMS
2021-11-03 XAt YZE L NEERE 20000 | ZACMS
2021-11-03 AGMe 2d2S A NESESE 20,000 SACMS
2021-11-03 XA 2 )FE K| xx NESEER-E=S 30,000 BFAHCMS
2021-11-03 X|QAIS| 2= K[+ NPECE! 30,000 SHCMS
2021-11-03 X Arz 2ASE Pkl INESER b= 10,000 BACMS
2021-11-03 X|GAts| 2 JdFE O[** HIX Sz 22 5,000 BZAHCMS
2021-11-08 | X %ME SUBE i HAESZ | 10000 | HHCMS
2021-11-10 XYArtz| 2422 O+ pNESE=ReIE=" 10,000 Extolz
2021-11-11 | X9MS| 32FE o AEs e 10000 | BACMS
2021-11-17 NGMz 32 Y HIXEZ 22 10,000 ZMCMS
2021-11-19 X GA2] SASE L Ng=ada 20,000 BZAHCMS
2021-11-22 XAtz SdEE Hfj +* INESESR= 30,000 ZACMS
2021-11-24 A AMe] 2HEE QR HIX| HE 3 20,000 EAHCMS
2021-11-24 | NN SUBE U NEgs a3 10000 | ZHCMs
2021-11-24 X GAe] 2 JAFE Y N8=da 20,000 BACMS
2021-11-24 NN 2w T 10000 | ZAHCMS
2021-11-24 NEEIEREE e NEEDE! 20,000 SHCMS
2021-11-24 X|Arz| 2ASE g HIXEZ= = 10,000 BACMS
2021-11-24 | MM SABE & HAEEEZ | 10000 | HHCMS
2021-11-24 ENEIELEE e NCECE 5,000 EHCMS
2021-11-24 X GAe] 2 AFE gL NE8zda 10,000 BACMS
2021-11-25 KA 2 /EE O] ** HXH=L2 50,000 Extol=
2021-11-25 XGAE 223 E 0|** H X H=Ll2 50,000 Extol=
2021-11-26 XGAe| =& L INESE=RIE= 10,000 x|
2021-11-29 NEREETE L NEERE 10000 | ZAHCMS
2021-11-29 X|QAS| 2= K[+ NEECE! 50,000 SHCMS
2021-11-29 X|YGAte| 2 JdFE O[** HIX 223 20,000 ZMCMS
2021-11-29 NGrz ZdZE O[** HIX Sz 23 20,000 ZMCMS
2021-11-29 | XGME SHUFE > HXEEES [ 50000 | @ACMs
2021-11-29 X 9Ate| = /4SS Y HIX =S 5,000 ZMCMS
2021-11-29 NEREET Of* HIX| S S 3 5,000 ZHCMS
2021-11-29 Grz| A2 G Nd=zda 10,000 B‘MCMS
2021-11-29 X|Arz| 2ASE Hps HIXIE2™E 50,000 2ACMS
2021-11-29 X|GAte| 2 JdFE Sk NEzda 10,000 ZMCMS
2021-11-29 AMte| 2d5E e NEESTE 20,000 EMCMS
2021-11-29 XA SYUZE Qe NEEDE 5,000 ZACMS
2021-11-29 NGrz A2 Of** Ndzda 10,000 ZMCMS
2021-11-29 AGMe 2158 Qxx NEEXTET 10,000 EMCMS
2021-11-29 NERNEIEREE & wx NPECE! 20,000 SHCMS
2021-11-29 | XA $UBE Y AEs a3 10000 | ZHcMs
2021-11-29 XAt SYUZE e TREEEE! 5,000 ZHCMS
2021-11-29 e Qe REEEE! 5,000 ZACMS




2021-11-29 X GAtz] 2)FE Of*= HXEd= &= 5,000 ZdCMS
2021-11-29 XGAtz| 2)3E * NE=Ea 10,000 2dCMS
2021-11-29 XAtz 2R/a3F -k NE=Ea 10,000 2d4CMS
2021-12-01 XAtz 2 )FE Hp NE=d= 10,000 2dCMS
2021-12-01 X9Are 2 /=2 a** HIX| =)= 5,000 24CMS
2021-12-02 X9Arz 23 e HXE= = 20,000 24CMS
2021-12-02 XGAtz 2)FE K|*+ NE8=da 10,000 29CMS
2021-12-02 XAtz 2 /a5 H* HXE= S 10,000 BHCMS
2021-12-02 XAtz 2R)3E e o NE=Ea 5,000 2d4CMS
2021-12-02 XGArz 2 /=2 il HXIE= 2= 5,000 2dCMS
2021-12-02 X9Are 2 /=2 i o NE=d= 5,000 24CMS
2021-12-02 X9Arz 23 x|+ NE=-= 30,000 24CMS
2021-12-02 XAtz 2)E8 O] *= XNE8=da 10,000 2Z9CMmS
2021-12-02 XAtz 2/ASE Z[* NE=Ea 30,000 24CMS
2021-12-02 XGAtz| 2/FE G NE=Ea 10,000 24CMS
2021-12-02 XAtz 2 )FE Of*= HXEd= &3 5,000 ZdCMS
2021-12-02 X9Arz 2 /=2 a** NE8=@a 20,000 2dCMS
2021-12-02 X9Arz 23 x| |8=2a 20,000 2d4CMS
2021-12-02 X9Arz 23 T NE=)= 10,000 24CMS
2021-12-08 X9Are 2 /=2 H HXE= 2= 10,000 2dCMS
2021-12-08 XAtz 2)3E a** NE=Ea 10,000 2d4CMS
2021-12-09 XAtz 2 )FE Of*= HXE= &= 10,000 ST
2021-12-09 XAtz 2)FZE Of*= HXEd= &3 10,000 ST
2021-12-09 XAtz 2)a3E Lk HXE=™dF 10,000 R A=
2021-12-09 X9GArz 23 Hf e HXE= /= 10,000 ST U=
2021-12-09 XAtz 2 /FE Hp HXEd=&a 10,000 SHYT
2021-12-09 XAtz 2 /AFE Hp HXE= &= 10,000 SHYT
2021-12-09 X GAtz] 2)E3E " HXEd= &= 10,000 ST
2021-12-09 X9Are 2 /=& a** HIX|E= 2= 10,000 SSYF
2021-12-09 XGAtz| 2/a3E a** HIXE=2a 10,000 sdYT
2021-12-09 X9GArz 232 H** HXE= = 10,000 STYU=
2021-12-09 X9Are 2 /=2 a** HIX|E= 2= 10,000 sdY=
2021-12-09 XGAre 2 /=2 a** HIX|E =23 10,000 SHYT
2021-12-09 XAtz 2 /a8 o** HXIE= 2= 10,000 ST
2021-12-09 XAtz 2 /a8 o x HX|E= 2= 10,000 o=
2021-12-09 XGAtz] 2R/a3E Of*= HXE= &3 10,000 sHYT
2021-12-09 XAtz 2R/E3E Of*= HXE= &5 10,000 ST
2021-12-09 XAtz 2 )FE Of*= HXEd= &= 10,000 SEYT
2021-12-09 X9Are 2 /=& g HIX|E =)= 10,000 SHYT
2021-12-09 XAtz 2 )88 X|** HXIE= )= 10,000 R A=
2021-12-09 XGAtz 2)FE O] *= HXEd= &= 10,000 o=
2021-12-09 XGAtz 2)E3E Of*= HXE= &3 10,000 A=
2021-12-09 XAtz 2R/E3E o HIXE =23 10,000 =




2021-12-09 NN EE Of MEECE! 10,000 Exfo1a
2021-12-09 XA =23 E A wx HXH=Ll2 10,000 Extol=
2021-12-09 XAz 2/las Hbx HXHEZ 10,000 Exto|a
2021-12-09 KGAte] 2 /=& Hfxx HXEEHS 10,000 sdea
2021-12-09 X9z 2 /=22 [ HX =22 10,000 EXoI3
2021-12-09 X GAR 223E G *x HXH=Ll2 10,000 EXOIZ
2021-12-09 X9Arz 23 el HXES S 10,000 sdea
2021-12-09 XGArz 2@aE ZEx* HBIXE=da 10,000 sdea
2021-12-09 XYArtz| 2422 Bhwx HX|H=22 10,000 Extolz
2021-12-10 KA 2/EE 0] ** rNHz=e2 10,000 ExtoI=
2021-12-16 | XoAte] SAFE U HXYFEZ | 10000 | BHCMS
2021-12-20 XA 2HFE Z NEECTE 20,000 EACMS
2021-12-22 | ASAE =SS 2 X3 | 20000 | @ACMS
2021-12-22 G2 2@EE R 10,000 E4CMS
2021-12-22 AGMe| 258 NEEECTES 30,000 ZMCMS
2021-12-22 XQAS| sa= NEECE! 20,000 SHCMS
2021-12-22 AGAte] =H5E CNEEDE, 10,000 SMCMS
2021-12-22 XA 2HFE NEETTE 20,000 EACMS
2021-12-22 | XAMEl 2¥SSE HIXEERF 10000 | BAHCMS
2021-12-22 | X HAE| SUFE HX¥SAF | 10000 | BHCMS
2021-12-22 X|ClAlS] SYUZE NEEDE! 5000 SHCMS
2021-12-22 G2 =@aE NEECE 10,000 SMCMS
2021-12-24 A GAte] 2@EE CNEEDE, 50,000 X2
2021-12-24 NN e MSEELE 50,000 Exol3
2021-12-27 XA I = o| NEECE! 10,000 =xto=
2021-12-29 AGAte] 2HEE ¢ R 10,000 E4CMS
2021-12-29 | X GAE| S FE & ] 10000 | 2AHCMS
2021-12-29 AYGAe 2 dE3 2 NEEEETES 20,000 SACMS
2021-12-29 NENEIELEE px NEECE! 10,000 2AECMS
2021-12-29 XA SZ= 20w NEERE! 10,000 EACMS
2021-12-29 | FlGiAtEl SUFE g~ HAEEAZ | 5000 | EAECMS
2021-12-29 AGMe =153 A Adz=AdZ 50,000 SACMS
2021-12-29 | X SAe] $AFE HAESAS | 20000 | BHCMS
2021-12-29 AGAte] = @3S SEERE, 50,000 EMCMS
2021-12-29 AGae 2 dEE EECE! 20,000 SACMS
2021-12-29 AGAe 2 d5S NEEEE 10,000 EACMS
2021-12-29 AGAe 2 dE3 NEERE 20,000 SACMS
2021-12-29 AGAte] 2@EE NEECE: 10,000 SMCMS
2021-12-29 X|QAS| 2= MEELE! 5 000 SACMS
2021-12-29 NENEECEE MR 5 000 ZACMS
2021-12-29 | ASAE =833 X Y3 eF 5,000 FHCMS
2021-12-29 XA SQZ= MR 5 000 SACMS
2021-12-29 NN EE MEELE 5 000 SACMS




2021-12-29 XGAte] 2 /=& g NE=)= 10,000 2HCMS
2021-12-29 XGAe] = /=E Sf** NE== 20,000 28CMS
2021-12-29 XMz 2)a3 QR NE=/a 10,000 28CMS
2021-12-29 XGAte] 2 /=& Of*+ ANE=d= 10,000 2dCMs
2021-12-29 XGAe| ==& H** HXE=a 50,000 28CMS
A 11,965,000
Lt 2HZES) TUZAMAM
GlgY |$UZe FR| X j EY (s o
=
Ch. 2HZET) AHEHAMIA
(Ehel = &)
AL LR} ArELHY =4 AMET|IE
2021-01-07 +&H| 3 #+8 33,000 128 cms AFEE
2021-01-07 +8H o =& 15,015 128 cms =52
2021-02-05 +8H o© & 33,000 18 cms AFER
2021-02-05 +=8H A == 13,420 19 cms =&
2021-02-24 7| 2K 90,000 5023 Aktz
2021-02-24 7| 2K 160,000 304 YKI=
2021-02-24 7|2+ A KtHH| 160,000 3032 YXt=E
2021-02-24 7|2+ A KtHH| 160,000 302 YXt=E
2021-02-24 7|2+ A KtHH| 160,000 3012 YXt=
2021-02-24 7|2t A XHH| 160,000 2043 AXt=
2021-02-24 7|2t A XH| 160,000 2033 AXt=
2021-02-24 7|2t A KtH| 160,000 202 AXE
2021-02-24 7|2t A KtH| 160,000 2012 YKt
2021-03-05 +8H «© & 47,080 28 ms AH8E 8! #=FE
2021-04-06 +8H o© & 50,270 38 ams AH8E 8! #=5E
2021-04-21 7|2t K| 90,000 5022 UXtE
2021-04-21 7|2t K| 160,000 3042 YXtE
2021-04-21 7|2+ A KtHH| 160,000 3032 YXt=E
2021-04-21 7| 2t AKX 160,000 3028 YXt=
2021-04-21 7|2+ A K| 160,000 3012 YXt=
2021-04-21 7|2+ A KtHH| 160,000 2043 AXtR




2021-04-21 7|2t A KtH| 160,000 A=
2021-04-21 7|2t A KtH| 160,000 A=
2021-04-21 7|2t A KtH| 160,000 YAt =
2021-05-06 +=8H A == 47,850 cms AFEE A =R
2021-06-07 +8H A == 47,850 cms AFEE A =R
2021-06-17 Al EHH| S K| H| 242,000 0j| O 4 4 K[ H|
2021-06-22 7|2+ A KtHH| 160,000 YAt =
2021-06-22 7|2t K| 160,000 YAt =
2021-06-22 7|2t A XH| 160,000 YAt =
2021-06-22 7| 2t K| 160,000 PEPN =
2021-06-22 7| 2t Ko 160,000 YAt =
2021-06-22 7|2t A KtH| 160,000 A=
2021-06-22 7|2t LKt 160,000 RN
2021-06-22 7|2t K| 160,000 YAt =
2021-06-22 7|2t A XHH| 90,000 YAt =
2021-07-05 +8H| & #+8 47,905 2 ms AR H 5=
2021-08-05 +8H| & ==& 47,245 2 ams AR X FE
2021-08-25 7|2t A KtH| 90,000 A=
2021-08-25 7|2t A KtH| 160,000 YAt =
2021-08-25 7| 2t K| 160,000 A=
2021-08-25 7| 2t K| 160,000 A=
2021-08-25 7|2t A KtH| 160,000 A=
2021-08-25 7|2t A KtH| 160,000 A=
2021-08-25 7|2t A KtH| 160,000 A=
2021-08-25 7|2t X 160,000 Yxt=z
2021-08-25 7| 2t K| 160,000 A=
2021-09-06 +=8H| & ==& 48,455 e A ==&
2021-09-17 AL 123,400 =282
2021-10-05 +8H| & ==& 48,015 g2 8 =
2021-10-22 7|2t A KtH| 90,000 A=
2021-10-22 7|2t A KtH| 160,000 YAt =
2021-10-22 7|2+ A KtH| 160,000 YAt =
2021-10-22 7| 2t A KtHH| 160,000 YA =
2021-10-22 7| 2t A KtH| 160,000 A=
2021-10-22 7| 2t A KHH| 160,000 YA =
2021-10-22 7| 2t A KtH| 160,000 YA =
2021-10-22 7|2t A KtH| 160,000 A=




2021-10-22 7|2t A KtH| 160,000 2012 YKt
2021-10-25 SEENZE 1,048,575 712 ESHEH(A%S
2021-10-29 SEENZE 2,446,675 7| 28 E S X AH|(THa)
2021-11-05 +8H| X ==& 46,420 108 cms AHEE A &
2021-11-17 +=8H| X ==& 60,000 =2 148 ZA=ELS
2021-12-06 +=8H| A ==& 49,445 118 cms AHEE A &
2021-12-28 7|2t A KtH| 160,000 2022 UXtE
2021-12-28 7|2t A KtH| 160,000 2012 UKt
2021-12-28 7|2t A KtH| 90,000 5022 YXAt=E
2021-12-28 7|2t K| 160,000 3042 YXtE
2021-12-28 7|2t K| 160,000 3032 YXt=E
2021-12-28 7| 2H K| 160,000 302 YXt=
2021-12-28 7| 2H K| 160,000 3012 YXt=
2021-12-28 7|2+ A KtHH| 160,000 2043 AKt=E
2021-12-28 7|2+ A KHH| 160,000 2033 AXt=R
2021-12-28 +=8H| X ==& 18,000 BEMNEEEHX]
2020-12-22 7|2t A XH| 90,000 501 QL=
2020-12-22 7|2t A KtH| 160,000 304 ACHE
2020-12-22 7|2t A KtH| 160,000 3032 U=
2020-12-22 7|2t A KtH| 160,000 3022 A=
2020-12-22 7|2t A KtH| 160,000 3012 Y=
2020-12-22 7|2t K| 160,000 204= A=
2020-12-22 7|2t K| 160,000 203 A=
2020-12-22 7| 2H AKX 160,000 2023 QA=
2020-12-22 7| 2H AKX 160,000 2013 QA=
2020-12-22 7|2+ A K| 90,000 4025 Oz

A 12,733,620
2t $UIES) A TMA
A+E LAt AHELHS Ab & A = g th ¢ Hl 2
04E23g | F=20rA= 750% o A Xf 75074
0617 | LGHZO|0O{Z 1CH AR A 1CH
12831¢ FAFE7] 10 AR 1CH
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